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Candidates have to do questions 31 to 90 EITHER ﬁ'om Part - II (Mathematics and Science) OR from

Part - 111 (Social Studies / Social Science).
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PART - il /"ﬂ'ﬂ .
MATHEMATICS AND SCIENCE mﬁrﬂ 9 fasm
Direction : Answer the following questions by selecting the_correct/most appropriate options.
a1 : Fr=iieiiaa 7l % ST 3 % fo7g e/ aerd Sugad awcd 3T
In a pentagon ABCDE, ZA=(2x+9°), £B=(2x+1°), £C=(2x-1°), £D=(2x+ 5°) and

31.
ZE=(2x—4°). Then, value of (2x+10°) is :
fFHT THYT ABCDE R; ZA=(2x+9°), £B=(2x+1°), ZC=(2x—1°), £D=(2x+5°) 3
ZE=(2x—4°) B179, (2x+10°) T 9[ € :
(TPl 118° (), 124° B) 114° @) 116°

32. The two corresponding angles formed by the intersection of two parallel lines by a transversal are
(3x—20°) and (5x —60°). Then, the value of (4x+30°) is :
ot fodss g0 & wm%@aﬂﬁswﬁ%aﬁr@aﬁaww (3x —20°) 3R (5x —60°) T | T4, (4x +30°)
HAAR : _
(1) 130° 2) 150° () 90° (4) 110°

33. Which of the following is used to record students problem solving ability, measurement ability

and experimentation ability ?
(1) Anecdotal Record (2) Te&ch@er Diary

(3) Cumulative Record (4) Report Card
fefafiga o 9 foras 3udn foenfoal § Goe-9HIaM o1 9rgdl, |19 i A3, GRS A sife

F1 fiaE 7@ & fou fan smar g 2
(1) swrEATEE e 2) foees srd
(3) Hedt (4) ﬁqﬁém
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40.

T\‘lan}-' occupations such as accountancy, banking, shop-keeping, tailoring etc. requires mathematics
directly or indirectly. This is an explanation of ________ value of Mathematics.

(1) Utdlitarian (2) Professional (3) Disciplinary (4) Cultural

g A S S o SR (e, i, HAER), e s S § g 7 w9
q T ) oTavERd Bt BT R R T F AT T

(1) SHEfed (2 =Euts (3) fawame (4) HiEpfaH

O is a point on line AB. Rays OC and OD are drawn on the same side of AB such that OC L OD,
ZAOC=x and ZBOD=3x. Then, ZBOD is equal to :

& ABWR feord O u foig €1 AB % W & iR 2 &l OC SR OD =g yHR @i T € fF OC LOD @,
ZAOC=x 3R #BOD=3x ¥ &, ZBOD SR © : :

1) 60° ) 671% @ 2% @) 45° \3/

31096 + (2704 + 2) +0.6738 +0.63 +0.059 — 0.79 =1 HIT S e

(1) 24.6728 2) 245728 (3) 23.6728 (4) 23.5728

The value of 31096 + (2704 +2) +0.6738 +0.63 +0.059 — 0.79 is equal to :

T il
Which of the following rational numbers lie between ET) and T ?

Fom 3 & -4 W Wt — o % o oo £

50 5 ke
R 3" I ST T

kg Yl Ligilig g
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46. For teaching addition of integers at the upper primary stage which of the following is least useful ?
(1) use of number line (2)+ use of chart paper
(3) use of stairs (4)  use of lift
S WINITR RYeRY < Sive wart ¥ fou Freferfan # @ o wad w5 e 32
(1) &I @ i 39 C L (2) T R I
(3)  Hifedt =t 3w (4) . fore =1 3wEm

47. Fnllc/)wing data shows the number of wickets taken by a player in last 11 matches played by
him/her :
,0,2,4,0,3,1,1,2 4,1
What is the difference between the mean and mode of the above data ?
77 iR e el gm sos gr wa o frwdt 11 B forw T fafwdl o demd et ¥
1, 0, 2, A5 QR HAN 1,2 4l

1 S % e iR Fgeh w ot 22
10 8 7 8
(1) g @ 3 @) @ o

48. Nitu is always confused in identifying the transformations. Her mathematics teacher helped her
by giving one simple word for each transformation namely : Reflection, Rotation, Translation and

Enlargement.
Which of the following represents the correct sequence of meaning of each transformation as

given above ? (X
(1) Slide, Flip, Turn and Bigger Figure - 4
(2)  Flip, Slide, Turn and Bigger Figure _

(3)  Turn, Slide, Flip and Bigger Figure . -

(4) Flip, Turn, Slide and Bigger Figure «

T TH ARl (ZFEERAYT) H TR F0 W Soe W € S i w9 R 3 5 e
9E o foTd Ueh | YR S SHeR! Heg <k S B R« e, wfafere, G0vE, wmeiE s s

S feu g & 9ftEdy & e &1 frefates ¥ ¥ S9- wd w9 1 fefm e
(1) Trge, gereHr, gl iR 521 TR
(2) vereAl, e, JamT 3R 981 3R
(3) HamI, fREe], Tee 3 a2l 3R
(4) Tere, gAMI, fRaer 3t o9 SR b(\‘_g;’
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50.

51.

52.

53.

Lot A = 3-8 411, B = =2324.12y, C = —42347 and D = x2-x-11,
It (A+B+0)=D = px24+qx+r, then the value of (p+q+r) is :

TR A = 2l -8x 11, B = ~2124 12y, Gomy ~dR47 SR D = 22— r—11 %1

MR (A+B+CO) =D = P4 qutr A (p+q+r) HHA
(1) 30 2 31 ) 27 (4) 28

A sum of ¥ 8000 bt?comes Y 9500 at 7.5% p.a. in x years at simple interest. What will be the
amount of the sum in same time at 20% p-a, if interest is compounded yearly ?

csmmm‘iwnﬁrzs%arﬁmawxaﬁmewsaoa’rmﬁ%l 341 TR 1 20% ¥ =X

amﬁmﬁmﬂﬁmm, I s anfifes Tafea e 22
(1) T 12672 (2) T 13824 (3) T 11616 (4) < 12144

One of the factors of 20pq* +4pq +45pr? — 60pqr —6rp is ;
20pq+4pq +45pr? —60pqr — 6rp ¥ UG ¥ A wH ToEs 7 § .
(1) 10p—15r+2 (2) 15p—10r+2

(3) 2r-3q (4) 2q=3r

Which of the following statement is correct about assessment'?

(1) “Assessment for learning’ is a process w1th no scope of giving feedback.

(2) Formative Assessment is used after the course completion to assign the grades.

(3) Assessment as learning generates opportunities for self-assessment and peer assessment.

(4) Summative Assessment helps to know to what extent the instructional objectives have been

achieved while teaching a concept.

e % fog Frfafad § ¥ F-91 o ad 22
(1) ‘siferm & foaw seher’ T TEt gishan & fored Tfagfie e o &1 w1 e 78 2|

(2) UIZFHH YU EH F FIE US 37 & o TEAIHe STha 1 SUART T S #)
(3)  HEH % B9 § Godich, - SR TEHH ek o G S el 2 |
APTIea e J8 S H Weg il ¢ fo foRdt sraemom 3 fremor & SR s sl = e

(4)
72 9% 9T fHa T R
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